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object 4 For n32 a tuple Ao 1 91,92 am an 1 of positive
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Thubten let C 1 and
Iet him denote the of triangulations of an Critz gon for n i

Prove that therec rel C n CoCn C Cn z 1 C n fo for Z1holds
Answer
Impute 4 1 D and c Coco is satisfied
Let h 2 Distinguish one side of theCnt2gon P and call it thebase

In anytriangulation of P the base forms one side of a triangle
E g if n 6thereare 6 possibilities for the triangle which thebase is a side of
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If the thirds then triangulate the remaining 7gon in Cgways
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If thethird corner is labeled 7 thentriangulate g in Cy way
andtriangulatethe Ggon inCqways for a total of CyCy triangulations
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If thethirdcorner is labeled6 thentriangulatethe 4gong
in Czways and

triangulatethe 5gon 4,4 in Csways for a total of Cstriangulations
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Bydef oCnXnf Co p so we need FCA to have constant term 1
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